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Results by Question

1. Please do question 1, which is displayed on the screens in class. (Short Answer)

Responses

Percent Count

OMN)(¢c) 72.13% 44

O(NM) 4.92% 3

N 3.28% 2

O(N~2) 3.28% 2

(1) 1.64% 1

1 1.64% 1

? 1.64% 1

A 1.64% 1

O(N) 1.64% 1

O(LOGN) 1.64% 1

O(MLOG(N)) 1.64% 1

O(N 1.64% 1

O(N*M) 1.64% 1
ONM?2) 164% ! Keyword(s): O(n)
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2. Please do question 2, which is displayed on the screens in class. (Short Answer)

o)

O(N)

O(V.SIZE())

M
OMLOGM)(c)

O(MLOG(M))

Responses

Percent Count
50.82% 31
8.2% 5
4.92% 3
3.28% 2
3.28% 2
3.28% 2




A
o M)
O(LOGM)
OM +N)
O(M LOG N)
O(M*N)
oM"2)
O(MLOG(N))
O(MLOGM)
O(MLOGN)
O(N LOGN)
O(N+M)
O(NLOGM)
o(V)

Totals

1.64%

1.64%

1.64%

1.64%

1.64%

1.64%

1.64%

1.64%

1.64%

1.64%

1.64%

1.64%

1.64%

1.64%

1.64%

1

1.64%

1

Keyword(s):

O(m log m)



0O(MLOGM)
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3. Please do question 3, which is displayed on the screens in class. (Short Answer)

Responses

Percent Count
o) 8.06% 5
O(MLOGM) 6.45% 4
OMLOGM)(c) 4.84% 3
OM LOG N) 4.84% 3
O(MLOG(N)) 4.84% 3
O(MLOGN) 4.84% 3




O(NA2)
O(LOG M)
O(LOG(M))
O(M*N)
OMLOG(M))
O(NLOGN)

0

A
M

M2

MLOG(M)

0 (M LOG(M))
O(LOG(M)*LOG(N))
O(M LOG(M*N))
O(M LOG(N))
O(M LOGM)
O(M*LOG(N)
O(M*NA2)
O(MA2LOGM)
O(MLOG(M)+N)
O(N LOG M)
O(N LOGN)
O(N)

O(N*M)

O(N+M)

O(NAM)
O(NLOG(M))
O(NLOG(N))
O(NLOGM)

O(NM)

4.84%

3.23%

3.23%

3.23%

3.23%

3.23%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%

1.61%




O(V) * O(N) 1.61% 1

O(V.SIZE() * 1.61% 1
ALPHA)
O(V.SIZE() 1.61% 1

LOG(V.SIZE
( 0) Keyword(s): O(m log m)

O(V.SIZE() LOG(V.SIZE()))

O(M LOG N)

O(M*N~2) O(LOG(M)*LOG(N))

o Loa O(M LOGN) O(NLOGN) omwoc
M O(M*LOG(N)

o(M LOG(N))

O(NLOGM)
O(NLOS(%\)/I)) O(M*N) O( M )
O(MA2LOGM) "
O(N LOG M)
Oé\z.;ILZCI)EC(;)(;)iLI\IP)HA) O (M LOG M) O(N LOGN)
0011060 O(MLOG(M))

4. Please do question 4, which is displayed on the screens in class. (Short Answer)

O(LOG(M)) 20.69% 12




O(LOGM)

oM)

O(LOG M) (c)
O(N)

LOG(M)
O(MLOG(N))
O(LOG N)
O(LOG(N))
O(MLOGN)

2

A

BINARY SEARCH
LOG(N)

0(2"M)

O(H)
O(LOG(V.SIZE()))
O(LOGN)
O(N*LOG(M))
O(NLOG(M))
O(NLOGM)

Totals

12.07% 7
12.07% 7
8.62% 5
6.9% 4
5.17% 3
5.17% 3
3.45% 2
345% 2
3.45% 2
1.72% 1
1.72% 1
1.72% 1
1.72% 1
1.72% 1
1.72% 1
1.72% 1
1.72% 1
1.72% 1
1.72% 1
1.72% 1

Keyword(s):

O(log m)
5



BINARY SEARCH
O(NLOG(M))

O(NLOGM) LOG(M) o O(LOG(N))

O(MLOG(N))AO(M) O(Ii(IL;GN)

0(LOG(M)

O(LOG N)

LOG(N)



